



St. Louis County, Minnesota

Date of Report: 12/16/2025 12:43:21 AM

General Details

 Parcel ID:
 420-0010-04321

 Document:
 Abstract - 1126028

 Document Date:
 12/18/2009

Legal Description Details

Plat Name: LAVELL

SectionTownshipRangeLotBlock265519--

Description: W1/2 OF SW1/4 OF SW1/4

Taxpayer Details

Taxpayer Name HILL JUSTIN & BLOOM COLLEEN

and Address: 1416 HWY 83 ZIM MN 55738

Owner Details

Owner Name BLOOM COLLEEN
Owner Name HILL JUSTIN

Payable 2025 Tax Summary

2025 - Net Tax \$1,729.00

2025 - Special Assessments \$85.00

2025 - Total Tax & Special Assessments \$1,814.00

Current Tax Due (as of 12/15/2025)

Due May 15		Due October 15		Total Due		
2025 - 1st Half Tax	\$907.00	2025 - 2nd Half Tax	\$907.00	2025 - 1st Half Tax Due	\$0.00	
2025 - 1st Half Tax Paid	\$907.00	2025 - 2nd Half Tax Paid	\$907.00	2025 - 2nd Half Tax Due	\$0.00	
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$0.00	2025 - Total Due	\$0.00	

Parcel Details

Property Address: 1416 HWY 83, ZIM MN

School District: 2142
Tax Increment District: -

Property/Homesteader: HILL, JUSTIN D & BLOOM, COLLEEN A

Assessment Details (2025 Payable 2026)									
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity		
201	1 - Owner Homestead (100.00% total)	\$36,500	\$236,900	\$273,400	\$0	\$0	-		
111	0 - Non Homestead	\$8,600	\$0	\$8,600	\$0	\$0	-		
	Total:	\$45,100	\$236,900	\$282,000	\$0	\$0	2601		





St. Louis County, Minnesota

Date of Report: 12/16/2025 12:43:21 AM

Land Details

Deeded Acres: 20.00 Waterfront: Water Front Feet: 0.00

Water Code & Desc: W - DRILLED WELL

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

POLE BUILDING	1968	1,7	20	.,			
Improvement Type	Year Built	Main Flo		3ross Area Ft ²	Basement Finish	Style Code & Desc.	
	V 5 114	-		etails (36X48)			
BAS	1	12	16	192	POST ON G	ROUND	
Segment	Story	Width	Length	Area	Founda		
STORAGE BUILDING	1925	19	2	192	<u>-</u>	<u>-</u>	
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.	
		Improv	ement 4 D	etails (12X16)			
BAS	1	12	24	288	FLOATING	SLAB	
Segment	Story	Width	Length	Area	Founda	tion	
GARAGE	1966	28	8	288	-	DETACHED	
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.	
		Improver	nent 3 Det	ails (12X24 D	G)		
BAS	1	28	40	1,120	FLOATING	SLAB	
Segment	Story	Width	Length	Area	Founda	tion	
GARAGE	1965	1,1	20	1,120	-	DETACHED	
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.	
		Improver	nent 2 Det	ails (28X40 D	G)		
1.0 BATH	3 BEDROOMS		-		0	CENTRAL, GAS	
Bath Count	Bedroom Cour	t	Room Co	ount	Fireplace Count	HVAC	
OP	1	3	5	15	FLOATING	SLAB	
BAS	1	23	32	736	BASEMI	ENT	
BAS	1	21	28	588	BASEM		
BAS	1	5	25	125	BASEMENT		
Segment	Story	Width	Length	Area	Foundation		
Improvement Type HOUSE	Year Built 1963	Main Flo		Gross Area Ft ² 1.449	Basement Finish U Quality / 0 Ft ²	Style Code & Desc. RAM - RAMBL/RNCH	
<u>-</u>	·	=		tails (HOUSE	•		
ttps://apps.stlouiscountyn	nn.gov/webPlatsIframe/frm				ions, please email Property	Γax@stlouiscountymn.gov.	
he dimensions shown are	e not guaranteed to be sur	ey quality.	Additional lot i	nformation can be	e found at		
ot Depth:	0.00						
ot Width:	0.00						





St. Louis County, Minnesota

Date of Report: 12/16/2025 12:43:21 AM

		Improve	ement 6 D	Details (4	45X72)				
Improvement Type	Year Built	•	Main Floor Ft ² Gross Area Ft ²		•	Basement Finish	sement Finish Style Code		
POLE BUILDING	1972	3,24	3,240 3,240		0	-			
Segmen	nt Story	Width	<u> </u>		rea	Found	ation		
BAS	1	45	72		240	POST ON (GROUND		
		Improvement 7 Details (12X12)							
Improvement Type	Year Built	Main Flo		Gross Ar	•	Basement Finish	Style C	ode & Desc.	
STORAGE BUILDIN		144		144		-	0.3.0	<u>-</u>	
Segmen	<u> </u>		•		rea	Found	ation		
BAS	n Otory 1	12	12		44	POST ON (
27.0	· .								
Improvement Type	Year Built	Improve Main Flo	ement 8 [Gross Ar	-	Basement Finish	Style C	ode & Desc.	
Improvement Type STORAGE BUILDIN		Walli Flo		154		basement rinish	Style C	oue a Desc.	
Segmen			-		rea	Found			
BAS	1 3.01 y	11	_	1		POST ON (
BAS	'					F031 0N 0	SKOOND		
		Improvem		•	•				
Improvement Type		Main Flo		Gross Area Ft ²		Basement Finish	Style C	ode & Desc.	
STORAGE BUILDIN		700		700	1	-	-		
Segmen			•		rea	Found			
BAS	1	25	28	7	00	POST ON GROUND			
		Improveme	nt 10 Det	ails (BA	CK YARD)				
Improvement Type		Main Flo		Gross Ar	ea Ft² I	Basement Finish	•	ode & Desc.	
	0	95		95				BRICK	
Segmen			•		Area Foundation				
BAS	0	0	0		95	-			
		Sales Reported	to the St.	. Louis (County Aud	itor			
Sale Date Purchase Price						CRV Number			
12/2009 \$115,000 188441									
		As	sessmer	nt Histor	у				
	Class	1 1	ъ.		T-4-1	Def	Def	Not Too	
Year	Code (<mark>Legend</mark>)	Land EMV	Blo EN	ag NV	Total EMV	Land EMV	Bldg EMV	Net Tax Capacity	
	201	\$52,600	\$198	,300	\$250,900	\$0	\$0	-	
2024 Payable 2025	111	\$7,900	\$(\$7,900	\$0	\$0	-	
2027 i ayabio 2020	Total	\$60,500	\$198		\$258,800	\$0	\$0	2,348.00	
	201	\$45,100	\$179		\$224,500	\$0	\$0	-	
2023 Payable 2024	111	\$6,500	\$175	<u>, </u>	\$6,500	\$0	\$0	-	
2023 Fayable 2024	Total	\$51,600	\$179		\$231,000	\$0	\$0	2,140.00	
	201	\$42,400	\$166		\$208,600	\$0	\$0		
2022 Payable 2023	111	\$6,100	\$100		\$6,100	\$0	\$0	_	
	Total		\$166		\$214,700	\$0	\$0 \$0	1,962.00	
		\$48,500				· ·		1,302.00	
-	201	\$30,800	\$143	•	\$174,400	\$0	\$0	-	
2021 Payable 2022	111	\$5,800	\$(\$5,800	\$0	\$0	-	
	Total	\$36,600	\$143	,600	\$180,200	\$0	\$0	1,587.00	





St. Louis County, Minnesota

Date of Report: 12/16/2025 12:43:21 AM

	Tax Detail History									
Tax Year	Тах	Special Assessments	Total Tax & Special Assessments	Taxable Land MV	Taxable Building MV	Total Taxable MV				
2024	\$1,839.00	\$85.00	\$1,924.00	\$48,178	\$165,787	\$213,965				
2023	\$1,671.00	\$85.00	\$1,756.00	\$44,747	\$151,487	\$196,234				
2022	\$1,495.00	\$85.00	\$1,580.00	\$32,795	\$125,861	\$158,656				

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.